
                                START



                               Initialize

                      Dimension Statements         



       Read Site Coordinates (0,c)

       Read Length of 

       diagonal of spindle=‘d’

       Read radius ‘r’ of 

       Spherical cavity around the site


       Start by Setting Polar angle =0

                   for the radial vector (RV) from site.

                   Equation for radial line: x=0

                   Calculate points of intersection of 

                   radial vector [RV] (i) with sphere 

                   as (0,c+r) and (ii) with spindle as 0,d/2)

                   

                   Calculate the distance ‘R’ between the 

                   two points of intersections (i) & (ii)  

                   Specified above.                   

                                                                                                         

                    Calculate number of closely packed point                         

                    Dipoles along the RV length ‘R’.                               Find points of 

                                                                                                        Intersections of RA

                                                                                                        With sphere and spindle       

                                                  

                                                          Is Polar angle 

             PA = 180?                      (P.A.) equal to zero?

                                                                                                                 Increment PA

                                                                                                                  Set new PA

            

               Calculate circumference            Calculate Induced                                                                                                                                                          

               of circle  at tip of RV for           Field Contribution IFC                     

               nonzero PA and calculate          for vector length                                

               IFC from surface of  cone          with P.A.= 0; store as IFCS                               

                Add to IFCS and store


               Print IFS and STOP
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